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The importance of the analysis of imperial 
portraits on Roman coins, for dating
the withdrawal from Dacia province 
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Abstract – This study proposes, based on image processing of the imperial portraits of Aurelianus and Claudius II Gothicus presented 
on coins, the dating of the coins issued by Aurelianus with the legend DACIA FELIX. Based on this dating and taking into account
arguments and historical considerations, the date of the withdrawal of the Roman administration from the Dacia would be assessed.

Keywords – coins issued by Aurelianus and Claudius II, image processing of imperial portrait on coins, correlation coefficients, 
structural similarity index (SSIM), dating the withdrawal of the Roman administration from the Dacia Province 
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a) Determining the transformations for alignment,
considering two reference points for each coin  
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b) Determining the transformations for alignment,
considering three reference points for each coin 
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